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Natural Response of Second-Order Circuits
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Second-Order Differential Equation
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Normalized Step Response of Second-Order Systems
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Parallel RLC Circuit (1)
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Parallel RLC Circuit (11)
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Complete Response of RLC Circuits (1)
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Complete Response of RLC Circuits (11)
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Complete Response of RLC Circuits (111)
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State Variable Approach to Circuit Analysis
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Roots in the Complex Plane (1)
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Natural response of a parallel RLC circuit
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Roots in the Complex Plane (11)
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Auto Airbag Igniter (1)
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Auto Airbag Igniter (11)
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MEMS Accelerometer
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Circuit Theory |

ADXL 50 accelerometer. The sensing
element in the center is surrounded by
active electronics. Chip size is 3 mm x 3
mm.

From Analog Devices, Inc.
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Vacuum Sealed MEMS Gyroscope

Non
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From Lab. for MiSA, SNU
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Auto Airbag Igniter (1V)
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Auto Airbag Igniter (V)
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Auto Airbag Igniter (V1)
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v(#) voltage across
the resistor (V)

i(f) current through
the resistor (A)
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